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import numpy as np
import matplotlib.pyplot as plt
plt.style.use(‘ggplot’)

%smatplotlib inline
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# Enter your code here to read input image
input _image = # ..

from scipy.misc import imresize
img = imresize(input image, (64, 64))
plt.imshow(img) ;
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XS
YyS

[1 # locations of pixels
[1 # colors of pixels

for row in range(img.shape[0]):
for col in range(img.shape[l1]):
# store pixel location as input
xs.append([row, col])
# store pixel color as output
ys.append(img[row, col])

# convert input and output lists to numpy arrays
XS = np.array(xs)

ys = np.array(ys)
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print(“Input shape: ", xs.shape)
print(“Output shape: “, ys.shape)
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# your code goes here
# ...
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# your code goes here
# ...
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# your code goes here
# ...

plt.figure(figsize=(12, 4))
plt.plot(training costs)
plt.xlabel(‘Epoch”)
plt.ylabel(‘Cost’)
plt.title(‘Training Cost Per Epoch’);
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Epoch (100) cost = 2020.7828
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Epoch (200) cost = 1448.5261
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Epoch (400): cost = 992.7184 Epoch (500): cost = 833.5704
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import time

start_time = time.time()

# the code you want to compute its execution time

# ...

end time = time.time()

execution time = end time - start time

print(“Total Training time = %.2f seconds” % execution time)
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https://www.youtube.com/watch?v=MquIWtRcnUs&t=2881s

